MBXZ5 - Bks
MBx30 - &ks
MI2x1,25525 - 4ks
MIZx1,25x35 - Sks

\ ; iy =, M8 - 8ks PP8 - 6ks
Kl ." M12-8ks (A, ) PP12 - 19Ks (A, | P8 - 10Ks
M12x70 - 2ks (A) Mi2-6ks (C) ' PP12 - 21ks (C)
MI12x90 - 2ks (1)
M12x19 - 3ks ()
MI12x21 - 1ks (C)
DETAIL

M12x19 - 3ks
MI12x21 - Tks

M12x90 - Zks

M12x1,25x25
M12x1,25x35

M12x1.25x40
AlC 3250 2

M12x30

M12x70 - 2ks

TOYOTA RAV4
Kod: TO615(A1C) 2.9, 2013




